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7°n 774 5],

AGCTOIA3, BAS
188 ‘This is the 15T prograrm of 'AOC’:GBtS BAS® for T(2, 3)********************
200-CLS: CLEAR:PRINT-Sstart-—=-"3T

1 B DT (It et 1 1011 X6

228 K=2: DZ—H(N 1)s¥=141:DIM Y(Y) :D=D1#02 -

388 OPEN "GRA22&23.DT3° AS #1 LEN=18 -

318 FIELD #1,4 AS C3,2 AS X1%,2 AS X25,2 AS Y13,2 A5 Y23,2 AS 63,4 AS 5%

488 x+x1*’(H******f**ﬁ(‘*‘é*ﬁ**ﬂ*’(*i**ﬁii**H*HHiHﬁﬂ**iﬁﬁ’(i*iﬁf’é’(**(*"

418 Z=0:60SUB 1818:X(1)=-1:X(2)=1:C1=1:2=24]
428 W=9:G0SUB 448

~—448-605UB-388
) 498 CLOSE:PRINT TIMES:END
588 ‘x2, x3(****i***ﬁi!***ﬁ*i**fii*******Hi*******i*ﬁ***{*i***i**ﬁ*i*(**x***

DIU—PUF\H ¢ U NIKI=J]
528 GOSUB 1818:X(2)=K1:C1=1:2=2+]
523 W=0:5605UB_488

598 NEXT, J1:RETURN
SBB yty DR R R R R R AR R R AR IRRREF AR FERR AR AR RE AR R R R AR RFRR AR I LR RTAS

618-605UB-1828:Y{1)=-1:Y{2)=1:02=1 hi=ld+1:C=C1#C2:6=01:5=0
428 GOSUB 2880 :NIM/=D2%(Z-1)+ld:PUT #1 NGU/ '
638 PRINT C,X(1);X(2),Y{1)Y(2),6,8

338 bbbuB‘?BB
458 RETURN
L 768 ‘y2, y3EEREREEEERARMECELEEAEEAFOGRRNARIIRARE NS ARAR AN R RN R R

718 FOR JJ1=2 T0 N:KKi=dJ1 :
728 GOSUB 1828:Y(2)=KK1:C2=1 :U=l{1:C=C1%02:6=015=3

738-G05UB-2088 :NUMD/=D2%{Z-1) 41§ :PUT- H1NUEL
748 PRINT C,X(1)1%(2) Y(1);¥42),6,8
768 NBXT 9J1RETURN

1889 InitTalizing buor‘aut1nxzxixﬁé:ﬂiHﬂixniﬁffix*tii§¥§éfiiﬁﬁ§ﬁﬁiiﬁx{*
1018 FOR I=1-T0 X:iX{1)=B:NEXT I:RETURN
1828 FOR-I=1 T0 Y:Y{1)=8:NEXT_I:RETURN

1998 ‘Denumeration (LOET)¥¥#SR¥Eteass ¥ttt iata SRR LR RRRRERARERBRAFRRFRIRERRENRS
2888 LSET C3=MKS3(C):LBET X13=HKI3(X(1)):LSET X23=HKI$(X(2))
30808 -LSET-Y1$=MKI3 (<D LOET-Y24=MKI$ (Y 2))

4868 LSET 63=MKI3(6): LSET 53=HK53(S) :RETURN

AULTOZ4d.BAS
188 ‘This is the 2nd programm of "AOCTO243.BAS" for T(Z,3)#stestitatuysaaxyasy
—— 118-CLS:CLEAR:PRINT *start = *:TIMES

128 R=2:N=3:D1=144N-1) tX=141 :DIM XX
138 K=2:  D2={+(N-1):Y=1+1:DIM Y(Y) D=D1xD2

—i48- PRIN‘F—'!?-‘XX*X.?‘T’YX‘Y?—‘—B —§* -
158 PRINT * '
218 OPEN "6RA23%23,073" AS #1 LEN=18

220 FIELD BT 4 AS TS, 2 AS XIS 2 AS X2, 27 AS YIS, 2°A5 1%,z Ao 03,9 AY o%
233 FOR 2=1 10 Di:FOR W=l T0 D2:NGT/=D3ecz-1) ' :
248 GET #1 NUM/:B0SUB 1618

950/ gaxasiErppn R Ry <Y >
268 1F X1=-1 AND Yi=-1 THEN §=N-1:6=1

—278-605UB-Z818 1 PUTH15NUT/ :
288 'iﬂﬁ*ﬁ****ﬁ**u***ﬂ*******ﬂ

783 PRINT C,X1:X2,Y1:Y2,6,5

—994"NEXT WNEXT Z{CLOSESEND
1688 / enuwerahon (CUI/C\)S)H*’éﬁ-ﬁ*!*H*i****i***i***§ﬁ***§i**¥************£*

e 1818 C=CVS{CS

1828 Xi= CUI(XI%)
1838 X2=CV1(X24)

1648 -Y1=V1¢Y13)
1858 Y2=CVI(Y2%)
1848 G=CVI{G3)

187675=CVS{S$ITRETURN
2868 ‘Denumeration (LSET)*********HH**HH*H**’H*HHH***HHH**H*H****i(

— 2818 _LSET C4=MKB3(C)
20828 LSET X13=MKI$(X1)
20838 LSET X24=HK1${XD)

——2840-LSET-Y13=MKI3{Y)
2830 LSET Y23=MKI$(Y2)
2843 LSET G3=MKI3(B)

T 28707LSETS$2MKS$(SITRETURN

APCTO03£3.BAS

258 LERRFRRRXERAREERSRRRARRARRFARERAR— <o)

248 1F X1<>-1 OR Y2=0 THEN GOTO 980
278 1F G=B THEN G=-1:T=T+}
2887 1F~B=1"THEN"SUM=SUM=5%SQR(C)
299 50sUB 2018: PUT #I NG




AOCTO 4 3,.BAS

SRR R R RSN F IR AR AR YT
248 1F X2=0 OR Y1{)-1 THEN GOTO 988
_270_1F_G=8_THEN_G=-1:T=T+i
288 IF G=1 THEN SUM=5iM- S*SGR(C)

258 GOSUB 2818:PUT &1 ,NRCL
PR LEEXEXEEERERERRAEERRYRRRERERERER

AOCTO 5% 3.BAS

216 OPEN *GRA23423.DT3* AS &l LEN=18 .
28 FIELD 1,4 A5 5,2 45 XI3,2 A3 X242 AS Y1$,2 AS ¥2%,2 AS G3,4 AS S%
FOR 47D ToN-

6 PRINT *(*;A:*1 8 ) = *;TIMES
278 Sr=0:T=0:FIR - 2=1-70- oi tFOR U=1-T0 D2NBE=0242-1) 4
248 GET &1 NUL:G0SUB 1818
245 HL=X2-Y2:605UB 4818 :UL=ML
"25@“"}**********i§§*§§¥§¥§§¥§§§i¥§§§§f8,6}
268 1F-X2=3 OR Y2=4 THEN GOTO 938
265 IF UUOA THEN GOTO 988
2767 1F G=0 THEN G=-1:7=T4]

288 1F G=1 THEN SUM=SLM-G¥SUR(L)
2e L0cUB 2610:RUT &1 N _
3?8 *f**i‘*"é*i§¥¥§¥1}¥’6*¥¥*§£¥¥’€£*¥¥§

990 NEXTW:INEKY Z; qusvB o0 : NEXTA: CLUSELEND

E X o WM B7 0754 v ZEE
SCAT23PR. BAS

188 ‘This is the programm_for printing the_scattering matrix_of T{2,)swsxssssx

118 CLEAR
128 R=2:N=3:D1=1+(N-1) 1X=141:DIM X{X)
—138-K=2:-——D2=1+{N-121¥=141 : DIM-Y (Y 1 D=D1 #D2: DI - 501, D2)

589 /50AT2323.0T3sxxx¢scattering matriy dafafdsRF ERaxsasNeRnLRRTRRIRANTXRTERS
318 OPEN °SCAT2323.DT3" FOR INPLT AS #1

328 FOR 1=1 TO DI1:FOR J=1 TO D2:INPUT 41, :
a8 1R 1 S(T,d) NEXT JBNEXT 1

_ 348 FOR I={ T0 DI:FOR J=1 T0 DZ:LPRINT_S(1,d), :NEXT_JsLPRINT :NEXT I

538 END

2 -1 -1

—1 1
2

2,
-1 -1



LY 66
hrh, (26XF6)

| sl |2 3 T2 Vi VB i VT VT VT S FY e DO S ot PR a2 33 2 G G NG N3 T T 3WI NT -z -\ Nz -3 -7 Y2
,_tw._:m 6 =2 2 -2l b -2 -2 -2| & -2 2 -2 6 2 -2 =2 6z -6 4 4 =2 ._v,,, 4 -2 4| 4 2 4 4 b -2 -2 -2
sk 6 -2 -2 2] -4 3 3 =2|-4 3 -2 3{-4 2 3 3 pRl2 /4 ol-2 /4 0 /|2 © [ /o 0 0 0
Wy -4 -2 3 3 4 -2 -2 -21-4 3 3 -2/-2 3 -2 3 3Bi-4 2 2 pl 4 -t0 4 3| 6 4 3 -2 =2 2 2

30 -4 mi.u 3 L,:N 3 3| & -2.,.-2 -2|-4 3 3 -2 3Gl 4 3 -0 H|-4 2 o 2 m !/ -0 3] -2 ,w 2 2

wElelz b 2 -2 20 -b 4 4 2] b 4 -2 4| -4 -2 4 4 2l 6 -2 -~z 2| 4 =2 2 2| 4 2 =2 =2 & 2 =2 -2

{€{-303) =2 =2 2 2]{-4 2 2 0 6-0 1 3| 6 [ 3 - Wil 6 -2 -2 =2{ -4 3 3 =2\ -4 3 -2 3| -4 -2 3 3

-2t =2 2 -2 u. 6§ 3 ~10 (i-~4 2 0 21 6 | -1 3 3Nzl-4 =2 3 3| ¢ =2 -2 -2{-4 3 3 -2{-¢ 3 -2 3
Bl3G] 2 2 2 =20 6-m 3 [i 4 3 | <-4 0 2 2 aWEl-4 3 2 3|4 -2 3 3| 4 -2 2-2|-4 3 3 -2
Bzl 0 v o 2l -2 1 4 Ot~y ¢4 o Ul-=2 o ¢ | 3|4 3 3 -2{-4 3 -2 3|-4 -2 3 3| 4 2 -2 -2

ez <6 2 4 4 4 -2 a2 =2

15

Peb 4 4 216 4 -2 4 | 6 2 o 2| -6 4 4 "2l -6 4 2 4|-4 2 4 4
|3 6 1+ 3 -0l 2 =2 2 N“L 2 2 o0 b6~ | 3 3G <2 2 2z 20 -4 2 2 of b-m 1 3| 4 /3 =n
{32 6 + =19 32 2 -2 20 4 3 -0 /| -4 2 o 2 3G 2 2 -2 2{ & 3 =0 /-4 2 o 2| & / -0 3
Wi3@t-2 0 1 /] 0o 0o 0o 02 1+ ( o0l-2 t 0 | 922 2 2 2| ¢ -0 3 4| 4 3 /-0 0 2 2
Wl3z-4 0 2 202 2. 272 6= 3 (i 6 3 [ -1 32| o 0 0 o0j-2 ) I & .NH [0 /=2 0 1 1
WE|ZI <6 4 =2 4l -b -2 4 4| b -2 -2 216 4 4 -2 |$E1-b 2 4 41 6 22 20 -4 4 4 2|-6 4 2 +
GlslEl 6 -m 1 3l ¢ 1 3 -0 2 -2 2 2|4 2 2 o Wi 6 I 3 -0 2 2 2 2|-4 2 2 o b -0 1.3
Wzl 2 e 112 0. ¢ 1|00 0 o2 1 . 0 Nzl 41 <0 3 -2 2 =2 21 ¥ 3 -w 1] -4 2 0 2
Vel30zl-4 2 0 2! ¢ /-0 31-2 2 2 a2l ¢ 3 -w 332 0 1 4|l 0o o v 02 1 1 ol-2 1 o v/
VEi3vz| 6 3 / -/0-4 0 2 2i:2 2 2 =20 4 -0 3 1 3Gl-4 0 2 21-2 2 2216 -~ 3 /| 6 3 { =i

COTeVE| 6 4 4 -20ob 4 -2 4 b2 k4| b 2 2 -2 E-6 4 =2 4i-b -2 4 4 b -2 -2 -2l-6 £ 4 -2
El3Vzl =2 ¢ 1 ol 1 o 4l 2 0 1 4l 0 0 0 0 SQ) b -0 1 37 6/ 3 -2 2 2 2/-4 2 2 O
biVZl-2. 2 2 Q| b~10 1 3] 6 1 3 --2 -2 2 2 322 1 o ..m 2 0 4 4|0 0o o0 o2 I I 0
Gl 6 3-m0 t]-4 2 0 2|4 1 -0 3|2 2 =2 2 3GQl-4 2 0 21 4 1 <19 3|2 2 -2 2| 4 3 -0 ¢
VElVZl b =0 3 1 6 3 | SO -f 0 2 20-2 2 2 -2 G| ¢ 3 Loeel-a 0 2 2 2 2 {6 -0 3 /]




o~ Toe 2 Pso (cont. 1) 52 3 ér
(3] .

B A i R A P A P e I e U A P il £ N WP B R ol M A RS U PR EME R R r
2 -8 42 4|-b -2 4 4| &6 2 2 2|8 4 4 =2 BEI-L 2 4 4 4 22 2|44 4 =2 -4 4 24
3 G b -0 3| 6 /. F 0|2 2 2 2|-4 2 2 0 =302 4 \. 3 -mw-2 -2 2 2\-4¢ 2 2 0| 4 -w +t 3
|2 /4 0 1|2 0 ¢ o o o0 O|-2 ¢+t 4 0 302 4 /-0 3|2 2 -2 206 3 -w y{-4 2 0 2
3Gl-4 2 o 2| 6 1 -0 3| -2 2 -3 2z & 3 -0/ 2Nz wu o ) [/l oo o o2 | [/ o =2 I o |

L S| b 3 [ /-4 0 2 20-2 2 2 214 -0 2 [ 3Gl-4 0 2 2|2 a2 2 =2\ b - 3 4| & 3 4 -m
7 sl -4 4 4 2|4 4 02 406 -2 4 46 2 2 22 2l 4 2 41 -b -2 4 4 b 2 2 2|-4 4 4 2
52 1 1 ol 0 |2 0o 1 il 0 0 ool |9G 6 n 1 3| & 1 3w 2 2 2 2|-4 2 2 0
2|4 2 2 ol b w1 3] 6 4 3 - -2 2 2 2 Wiy-2 1 0 12 0o 1 Ul o 0o 0 0O 2 I 1 0

S| 4 3 -0 1|4 2z 0 204 1 -0 3|2 2 -2 2 3Gl -4 2 0 2| 4 /-0 3i-2 2 -2 2|4 30

W Rl b -0 3 gl 4 3 1L -le-4 0 2 2| -2 2 2 -2 9G4 3 4 -4 D 2 2 &.ﬁn 2 =~ 6 -1 32 |
n i b w2 vz 20 4 w2 =2 -2l b =2 -2 2| 4 -2 -2 -2 WI{ -4 4 4 204 4 =2 4|-4 -2 4 4] 4 -2 -2 =2
WMl b 2 2 21 4 3 3 2j-% 3 -2 F|-4 -2 3 3 32l 1 0 ol2 1 0 42 0 1 4|le o o @
M-+ 2 3 3| 4 -2 2 -2|-4 3 3 -2|-4 3 -2 3 Sh|-4 2 2 0| 4 -0 1 3/ 6 1 3 -p2-2 2 2

T -4 3 =2 zl-4 -2 3 3 4 2 2 2)-4 2 2 -2 3R 4 310 1|4 2 o0 2| 6 1 -0 3{-2 2 =2 2

n 3G -4 3 3 2-4 3 -2-3|-4 2 3 3 b -2 -2 -2 oGl 4 -0 3 | 4 3§ wwm-4 0 2 2| =2 2 2 5
" a6 > 2- 2] -6 4 4 21 -4 £ 2 4|8 -2 4 4 DGl 6 a2 2 ~2] 6 w2 2 w2 b 2 w2 =2 6 2 -2 =2
Sl -2 2 2 2y -4 2 2 o 4 -1 4 3| 4 1 3 -0 zf 6 -2 =2 20 -4 3 3 -2{-4 3 -2 w -3 2 3 3

_.iw. -2 2 -2 2 w 3 -0 /|-% 2 o0 2 ¢ ! w3 302 -4 -2 w, 3 .m .,»u -2 A .|.~ -4 2 3 =2 -4 u ph. .w

mwm 2 2 2 21 b - 3 /| 6 3 1 -10-4 o 2 2 Wi -4 3 =2 3i-~4 =2 3 3| 4 = -2 2|~ 3 3 -2

2 Nzl o 0 o0 0l-2 1. 1 0| 2. 0. _ 0. Ll 0O o I 3Vzi-4 3 3 214 3 =2 Fl-4 -2 3 3|4 =2 =2 -2
N BVZ1-b -2 4 4. 4 2 -2 -2i-b 4 4 -21-4 4 2 4 6G| 4 -2 ~2 2 -b 4 4 2|-4 4 2 4 =6 2 4 4
,,.:m 6 1 3 -:._ -2 -2 2 2% 2 2 O 4 -w | 3 Sl -2 =2 2 2i-~% 2 2 2 b -l 1 31 4 I 3 =P

N 4 /w32 2 -2 a2l 6 3 -w i|-4 2 0 2 SE 2 2 X 2| 4 3 -0 J\-4 2 0 2| 4 7/ -0 3

32V 2 0 4 4 0 0 o o2 4 4 0|2 1 0 Wil -2 o2 2 -2f 4 - o3 mw, {4 0 2 2

B 136|424 o0 2 2l 2 2 2 =21 4 -m 3 sl 6 3 1. WMl o 0 0 ol 4 1 ol 2 0 o 4l 0 1

b



-

Tz6 2 P3g

(cont,-2)

20

22

2b

7 s
12 33 5 7 N2 3G 2 Az E 2T i E s G E
Wzl 6 =2 -2 ~2{-b 4 4 -2| -4 4 -2 4|3 -2 4+ ¢
Wil-2 2 2 2% 2 2 of 4 - M. 3| b6 1 3 -0
3G 2 2 2 2|4 3 -0 t|-4 2 o0 2|6 1 -w 3
SB|-2 2 2 -2| b -0z 1| 6 3 1 -0l 0 2 2
Nl o 0o 0 el -2 1 4 0| -2 /1 0 =2 0 1 1
zl-b 2 4 4| 6 o2 2 -2|-4 4 4 218 4 -2 4
S b 43 -l0) -2 -2 2 z|-4 z-2 o 6 -w I 3
Nzl 4 4 -1 312 2 - 2| 4 3 -w /)4 2 0 2
Wi 200 4 loe 0 o 92 1 1 ey =20 o0 |
el -4 0 2 2| =2 2 2 -2 b= 3 1| b 3 1 -0
BEI-b 4 2 4|6 2 4 4|6 2 2 2|4 474 -2
3zl 4 - 4 3] 4 1 3-I0l-2 -2 2 2({-4 2 2 0
{2 4 o0 4|2 0 1 ilo o0 0 0|2 1 ( 0
3Gl-¢ 2 o0 2 6 7/ <t 3|-2 2 -2 2 b 3 -0 !
,wi § 3 /4 ~jol-4 o0 2 2| -2 2 2 -2 6 -0 3
gl -6 4 4 -2 b 4 2 4l 2 4 4y b6 -2 2 2
N2l 7 " 0y -2 4 e 1} =2 o0 1 1| @ o O 0
Gl-4 2 2 o) 6 w0 ) 3| 4 1 3 - -2 2 2 2
3Gl 4 3 -0 /-4 2 p 2 6 / -0 3|-2 2 -2 2
3l b -0 3 44 6 3 ) -E__ -4 0 2 2| -2 2 2 =)
el 2 2 2 b 2 2 m § -2 2 2| b6 2 2 =2
Wz| 6 2 2 204 3 3 20 -4 3 =2 5|4 -2 3 3
31 -4 -2 3 Yzm -2 -2 -] -4 3 3 -201-4 3 -2 3
3Z -4 3 92 3|-4 -2 3 3146 2-2 =20-4 3 3 -2
31-4 3 3 ) -4 3 -2 3]-4 -2 3316 2 2 -2

17



